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__________________________________ 

Solve the Word Problems: 

Example: Roshan had Rs.175.00 with him. His elder brother gave him Rs.210.50.                                         

How much money does he have in all? 

Solution: Amount of money Roshan had = Rs175.00.                                            Rs    P 

Amount of money given by his elder brother = Rs 210.50.                                    175 . 00                 

Total amount of money he has now= Rs 175.00 + Rs 210.50                             + 210 . 50                                                                                                                                                                               

                                                         = Rs 385.50.                                                   385 .50 

 

Q1. Do Worksheet no.3 in your Maths workbook. 


